- You should hand me the answers to Week 2 at the beginning of Wednesday’s lecture (March 30).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 2 in bold at the beginning of your answers.






WEEK 2

Still about L2:

1. a) What is a positive externality?

b) Why does the payment of wages by some firms imply a positive externality on other firms?

L3: Gravitation towards FE?

2. Why are prices the source of incomes? 

3.“When the general level of prices falls, ie., when goods and services become cheaper, aggregate demand rises” . Do you agree? Explain.

4. a)Why do modern economies depend on debt to function?
b) What is the consequence of that on the (private debt)-to-GDP ratio? Give the example of the US economy.

5. a) A decline in the general level of prices transfers wealth from debtors savers. Why?
b) What is the consequence of that fact on the level of AD? Explain.

6. a) What does the Keynes effect intend to conclude?

b) Explain the two problems with the Keynes effect.

7. a) What does the Pigou effect intend to conclude?

b) Explain the two problems with the Pigou effect.

8. a) A period of deflation can increase the proportion of non-performing bank loans. Why?

b) What’s the effect of that fact on banks’ equity? Explain.

c) That may lead to an amplified decline in the credit to the economy. Why?

9. a) Why may entrepreneurs’ propensity to spend (C + I) may be higher than that of workers?

b) If entrepreneurs’ propensity to spend (C + I) is lower than that of workers and nominal wages fall by more than prices, what will be the effect on aggregate demand? Explain.

Lecture 4: The relation between S and I

10. The required reserves ratio is a proportion of total deposits.

a) Is the loanable funds theory valid in this case? Explain.

b) Does supply create its own demand in this case? Explain.

11. If the required reserves ratio is a proportion of checkable deposits only:

a) Does saving finance investment? Explain.

b) Does supply create its own demand? Explain.

12. Does the financing of investment depend on saving? Explain.

13. Even if the financing of investment does not depend on savings, the level of investment in an economy may depend on the level of saving. Why? In which circumstances?
14. For a closed economy to increase tomorrow´s consumption at the expense of today’s consumption an increase in saving is not enough. What else is needed?

15. Explain the main determinants of investment.

16. An increase in saving may lead to an increase in consumption in the future. Why? Explain the circumstances in which that may be true and the economic mechanisms at play.

17. An increase in saving may lead to a decrease in consumption in the future. Why? Explain the circumstances in which that may be true and the economic mechanisms at play.

